	
	BUSC 1A Sample Exam 1
TRUE (T) OR FALSE (F)
____ 1. Scarcity is a problem only for the poor.

____ 2. Because resources are limited, people must learn to make decisions with opportunity costs.

____ 3. To the left of a minimum point, the slope is negative, to the right, the slope is positive.

____ 4. Production efficiency requires producing at a point on the PPF.

____ 5. An increase in income increases the demand for all products.

Short Answer Problems 

1. Plot the production possibilities curve from the data in the following table.

-----------------------------------------------------------------------

Alternatives                A     B      C     D     E      F

-----------------------------------------------------------------------

Capital goods            100    95    85   70    50    0

Consumer goods           0   100  180  240  280  300

-----------------------------------------------------------------------

Label on the graph the attainable(A) and unattainable(U) area.

a. What are the points on the PPC represent? _____________________

b. At point C, the opportunity cost of 60 more units of consumer goods is ____________
     At point E, the opportunity cost of 20 more units of capital goods is _______________

c. Comparing point B and E, which tends to promote a faster rate of economic growth? Why?

________________________________________________________________

 
2.Indicate whether each of the following statements applies to microeconomics (MI) or macroeconomics (MA):

____a. An unexpected storm in Florida had damaged the corn crops and caused the price of corn to rise.

____b. The general level of prices in the American economy is quite stable in the last year.

____c. In order to gain more market shares, American Online has offered their DSL service for free in the first three month.

____d. The unemployment rate in the United States was approaching 4% in January 2000.

____e. In the first week of February 2001, Federal Reserve increased the prime rate by 0.25%.

 

3.Suppose the total demand and the total supply of oranges per month in Florida market are as follows:

----------------------------------------------------------------

Price ($)                    3     3.5     4    4.5     5     5.5 

Demand                  6000 5000 4000 3000 2000 1000

Supply                     2000 3000 4000 5000 6000 7000 

-----------------------------------------------------------------

a. Graph the demand and supply curve on the same graph.

 

 

 

Equilibrium price is ______________ and equilibrium quantity is _________________

b. At $3.50, the market is not in equilibrium because there is a _______________of _________oranges.

At $4.50, the market is not in equilibrium because there is a _______________of ________oranges.

c. "Surplus drive price down, and shortages drive them up" Do you agree? Explain.

______________________________________________________________

 
4. According to the change in the factor affecting supply or demand, fill in the blanks in the table by I for increase, D for decrease, N for no change, U for uncertain.

----------------------------------------------------------------------------------------------------------
Factor                                        Demand  Supply  Equilibrium Price Equilibrium Quantity 
Price of a complement  rises  _____     _____      _______       _______

Technology advances              ______    _____      _______      _______

Less sellers and less buyers   _____     _____      _______       _______

------------------------------------------------------------------------------------------------------------


